

AYA Personal Investment Vitae as of March 2026



Dan Rochefort @Dan Rochefort

Platinum member since January 2017

Location: United States

Gender: Male

Asset investment style: Hybrid analysis

Market capitalization:

\$7,711,217 talents

Net overall return per annum:

18.17%

Virtual portfolio value:

\$4,679,884 talents

AYA current rank order:

#2

Asset investment philosophy:

Dan Rochefort trades U.S. stocks with the top #101 to #500 positive alpha signals.

Andy Yeh Alpha

Top 10 profitable stock transactions since January 2020

Symbol	Company	Buy	Sell	Share Volume	Return (%)	Profit (\$)
VATE	INNOVATE Corp. Common...	\$0.53	\$4.14	117,649	+681.13%	\$424,713
RMBL	RumbleOn Inc. Class B...	\$0.36	\$7.95	16,086	+2,108.33%	\$122,093
LGVN	Longeveron Inc. Class...	\$3.45	\$26.25	2,459	+660.87%	\$56,065
TEAM	Atlassian Corporation...	\$28.92	\$224.83	190	+677.42%	\$37,223
SHOP	Shopify Inc. Class A ...	\$56.05	\$426.82	98	+661.50%	\$36,335
AXSM	Axsome Therapeutics L...	\$4.60	\$31.75	1,195	+590.22%	\$32,444
LSCC	Lattice Semiconductor...	\$6.97	\$48.04	788	+589.24%	\$32,363
SQ	Block Inc. Class A Co...	\$14.50	\$99.54	379	+586.48%	\$32,230
FIVN	Five9 Inc. Common Stock	\$16.31	\$110.10	337	+575.05%	\$31,607
TRNS	Transcat Inc. Common ...	\$11.35	\$73.00	484	+543.17%	\$29,839

Sum \$834,912

Andy Yeh Alpha

Top 10 current stock portfolio positions as of March 2026

Symbol	Company	Price	Position	Capitalization
CNR	Core Natural Resources Inc. Common ...	\$113.23	806	\$91,263
TSEM	Tower Semiconductor Ltd. Ordinary S...	\$171.92	530	\$91,117
ETON	Eton Pharmaceuticals Inc. Common Stock	\$23.24	3,897	\$90,566
HIMS	Hims & Hers Health Inc. Class A Com...	\$19.38	4,559	\$88,353
DELL	Dell Technologies Inc. Class C Comm...	\$171.81	447	\$76,799
TREE	LendingTree Inc. Common Stock	\$41.72	1,771	\$73,886
PXS	Pyxis Tankers Inc. Common Stock	\$4.41	15,916	\$70,189
EXE	Expand Energy Corporation Common Stock	\$113.50	613	\$69,575
PLTR	Palantir Technologies Inc. Class A ...	\$143.06	482	\$68,954
POWI	Power Integrations Inc. Common Stock	\$49.50	1,381	\$68,359
			Sum	\$789,061

Top 20 investors

#1 - #5	#6 - #10	#11 - #15	#15 - #20
@Andy Yeh Alpha	@Jonah Whanau	@Fiona Sydney	@James Campbell
@Dan Rochefort	@Charlene Vos	@Rose Prince	@Joseph Corr
@Monica McNeil	@Becky Berkman	@Daisy Harvey	@John Fourier
@Laura Hermes	@Chanel Holden	@Olivia London	@Allen
@Peter Prince	@Jacob Miramar	@Apple Boston	@Han

Andy Yeh Alpha

Top 20 influencers

#1 - #5	#6 - #10	#11 - #15	#15 - #20
@Chanel Holden			
@Daisy Harvey			
@Andy Yeh Alpha			

Top 20 followers

#1 - #5	#6 - #10	#11 - #15	#15 - #20
@Bob Hessonwitz	@Vincent Bonsai	@Jack hsu	@Apple
@Will	@Darren	@AJ Yeh	@ZimboDave
@Luminoalgo	@Sandra Martinazzison	@MRCASH1991	@Bloom789
@Duke	@Mo	@Amy	@Andy Cheung
@TechBull22	@Ru-Ting Yeh	@Syl_will	@George

Andy Yeh Alpha